
 

 

Resolução da Atividade Complementar 1 - MAT2_10NUM01 
 
16 X 2 = 32 
 
ou 
 
2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 = 
 
ou 
 
 

 

Resolução da atividade complementar 2  - MAT2_10NUM01 
 
17 X 2 = 34 
 
ou 
 
2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 = 
 
ou 
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Resolução da atividade complementar 3  - MAT2_10NUM01 
 
Desafio 
 
6 X 2 = 12 
8 X 2 = 16 
12 + 16 = 28 
 
ou  
 
2 + 2 + 2 + 2 + 2 + 2 = 12 
2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 = 16 
12 + 16 = 28 
 
ou 
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